20254 (ZZFE) EMTMERAAKBMERENTITHER

FRWERAT | FREMEAT B 85 £ BRBR/ R WERR | AR
FE 1) 177 41 438 Fi A IR o o5 EL A3 v, A ) 35KV AR IA AR 3k 10kV524 11 K4 2% 6408.6 77.6
o A7 41 436 H, 2 ) P £ 2 L A4t H 2 ) 220kV LR AR HL il 10kV568 51 5 b 2% 6408.6 824.98
] A A 1 4t i 24 ] I ) L A8 v 2 ] 120kV X1 ZE 2% Pl b 10kV 851 g i VA 25 6928.2 125.06
o A7 41 436 H, 2 ) P £ 2 L A1t H 24 ) 110KV X1 ZE I AR v 3l 10kV852 7R - 55 4% 6928.2 85.76
] o A 4t i, 2 ] ] ) L A4 B 2 ] 110KV 4% R A2 F i 10kV882/i K FL 2k 6443.2 116.86
] 4 A7 4 3t Pl 2 ) ] ) L {3 v 2 ] 35KV i ] 74 AL F b 10kV54575 4 £k 6408.6 217.98
] R A 4 i 2 ] ] ) L A4 Bl 2 ] 220kV FR 728 FEL ik 10kV567 1% H £k 6408.6 619.18
FEL ) 77 ] 418 HL 2 ] JE] A {154 L {3 B, A ] 35KV kA8 HL ik 10kV53747F Sk £k 6408.6 426.78
] oA A 4t Fl 2 ] ] ) L A4 Bl 2 ] 220kV FR 728 FL ik 10kV569 K ¥ £ 6408.6 465.08
FEL ) 77 ] 418 HL 2 ] ] ) P A v 8 ] 35KV AR I AL L b 10kV525 1 B 15 4% 6408.6 200.38
] R A 1 4t Fl 2 ] ] ) L A4 Bl 2 ] 220kV FR 728 FL ik 10kV563 % R4k 6928.2 3922.26
FEL ) 77 1 418 HL 2 ] ] ) e AR v 8 ] 35KV M IE U3 AL F i 10kV528%H 52 )11 2% 6408.6 413.58
FE] ) 7 1 44 FL 2 ] I ) O LA Pl 8 ) 35KV AR AR 3k 10kV 526 A I £ 6408.6 547.58
FEL ) 77 41 418 HL 2 ] JE] A {154 L {3 e, 24 ] 110kV 7R Jm) 38 1 b 10kV881 i V4 22 7967.4 230.22
] R A 1 4 i 2 ] ] ) L A4 Bl 2 ] 110KV 48 JS AL F 10kV/895 W3 £ 8660.3 0

FEL o 77 41 418 HL 2 ] ] ) D AR v 8 ] 110KV 7R Ja 42 H bl 10kV583Fh K VA 25 6408.6 0

A A ] 44 E, 2 ] oA {3542 L 4k i, 2 ] 35KV S A L 10kV534 77 HE 2L 8660.3 0

L R4 A ] 48 H 2 ) ] ) P A v 8 ) 35kVAfF kAR HL ik 10kV5385812 5 45 7967.4 0
A A ] 44t E, A oA {3542 L 4t i, 2 ] 110KV 4 S AL F 10kV 894745k, 11 |l £k 8140.6 0

o A7 141 436 H, 2 ) P £ A L 4t H 2 ) 110kV 7R K28 HL il 10kV/5963 £ IT1 [l £& 3637.3 0
] R A 1 4 i, 2 ] ] ) L {4 Ef 2 ] 110KV 48 AL F 10kV 8914 11 |l £k 6408.6 0

] R4 A ] 48 H 2 ) ] ) Pl AR v 8 ) 110KV X1 ZE I AR v 3l 10kV551 77 It 2% 6928.2 0
] oA A 1 4t Fl 2 ] ] ) L A4 2 ] 220kV FR 728 FE il 10kV566 7% K £k 6408.6 0

o 7 41 43 H, 2 ) P £ 2 L 4t H 2 ) 110kV 7R K48 HL il 10kV 8924 5 i85 £ 6408.6 0

] oA A 1 4 i, 2 ] I ) L A4 B 2 ] 110KV 48 JS AL F 10kV593HT I, T Mk 8140.6 0

] 4 A7 4 3t Pl 2 ) ] ) L {3 v 2 ] 110KV 7R R AL H il 10kV893IHFH V [Hl £k 6408.6 0

] R A 4t Fl 2 ] ] ) L A4 Bl 2 ] 110KV 45 J) A2 F i 10kV5847% K FE 2k 3637.3 0

] o4 A ] 48 F 2 ) ] ) P A v 8 ] 110KV 7R R AL H il 10kV5923 £ IV [ £& 3637.3 0

] o A 4t Fl, 2 ] ] ) L A4 Bl 2 ] 110KV 48 JS AL F 10kV5974 AR T M2k 3637.3 0

FEL ) 77 ] 418 HL 2 ] ] ) P A v 8 ] 110KV 7R K AL H il 10kV896 K T 1 £k 6928.2 0

] o A 1 4t Rl 2 ] A EL it Fi A ] 35KV A2 FL ik 10kV 5441 11 2% 3117.7 574.86
FEL ) 77 41 418 HL 2 ] ] ) 4% L3t b A ] 110KV A8 H AL H, 3l 10kv894 H. [ 2% 10911.9 706.42
] R A 4 Fl, 2 ] QB it i A ] 110KV b AL F 10kV 8387 7 £k 10911.9 1613.02
L ) 77 41 418 HL A ] o AR Ll e o ] 110kV b R AL H il 10kV849°F- 3 £k 10911.9 2061.02
] R A 1 4 i, 2 ] FE A EL it i A ] 35KV i A8 L il 10kV 565/ WL £k 10911.9 235.02
FEL ) 77 41 418 Ht 2 ] o AR Ll L v ] 110kV Jb 538 L 3 10kV8394k 7 I £k 10911.9 3842.02




FRAEEAT | FREEEAT BRI s 2T BRER ARG | AR
] o4 7 ] 48 H 2 ) B AR AL A F] 110kV b 28 H ik 10kV8434k TiT IV £ 4503.3 43.04
] A A 4t i 2 A EL it H A ] 110kV 78 )% PEL A P b 10kV593- 3 £k 3117.7 3.56
] R4 A ] 48 H 2 ) AR AL A 110kV b 28 H ik 10kv846dk Ti7 1T 2k 6235.4 1865.02
] A A 1 4t i 24 ] FE A EL it Hi A ] 110kV b 528 FE ki 10kV842 7k 3 2% 10911.9 779.02
L R4 A ] 48 H 2 ) AR AL A 110kV A8 H AL H il 10kV/5974% B 1145 10911.9 6.02
] o A 4t i, 2 ] FE A EL it Fi A ] 35KV i AL FL ik 10kV 56751 2k 10911.9 1124.02
] 4 A7 4 3t Pl 2 ) ] £ EL 3t H 2 ] 110KV & 1+ 42 H 3l 10kV856 F 4k 10911.9 972.82
] R A 4 i 2 ] FE A EL it i A ] 120Kk V I 171 78 L izl 10kV 8645t 5t £k 5196.2 584.96
FEL ) 77 ] 418 HL 2 ] ] ) 4% L3k b A ] 110kV b R AL H il 10kV848 /L LS 2L 10911.9 407.02
] oA A 4t Fl 2 ] A EL it Fi A ] 110KV b S AE F 10kV 845 T TIT £k 10911.9 1751.02
FEL ) 77 ] 418 HL 2 ] ] ) 4% L3t b A ] 35KV i AL HL ik 10kV56175 A 2% 3117.7 242.96
] A 7 A4 b A ] o 4% Ll H 0 ] 35KV e A HL i 10kV 566X A 25 3117.7 235.96
FEL ) 77 1 418 HL 2 ] ] ) 4% L3t b A ] 110KV & A+ 42 1 3l 10kV553 7 % 4k 3983.7 69.86
] A 7 44 b A I o L A4 Hht 8 ) 110KV & #9728 it 10kV554 5 I £k 10911.9 291.12
FEL ) 77 41 418 HL 2 ] ] ) 4% L3t A ] 110kV b R AL H il 10kV 8387 7 £ 10911.9 1837.22
] R A 1 4 i 2 ] [ A EL it i A ] 110KV 18 )% "HLAE F i 10kV5921L1 JE £ 10911.9 104.02
] I 17 46 B 2 ] ] o4 A% EL it B 2 ] 110kV A8 H AL 1 il 10kV891Fg M4k 10911.9 245.62
] A A 1 4 i, 2 ] [ A EL it i A ] 110KV A FRAL F 10kV827[ JHEZL 9872.7 6.26
L R4 A ] 48 H 2 ) B AR AL A ] 110kV b 48 H ik 10KV 8344 ik & 3117.7 162.96
] R A 1 4t i 2 ] A EL it H A ] 35KV b A8 FLik 10kV535 /\IE£; 3117.7 0
] R4 ] 48 H 2 ) AR AL A ] 110kV A ARAR H il 10kV 818 ph £k 4503.3 0
] 0 A7 4 4L Fi, 2 ] FE PR EL ik i A ] 120k V i 171725 H1 37l 10kV 8763 i VIS5 £k 10911.9 0
] R4 A ] 48 H 2 ) AR A A 35KV |48 HLik 10kV534iHE |- 2% 5022.9 0
FE 1) 477 41 418 FiL A ] o 4% Lk A ] 110kV ZUPRAR 1 3k 10kV 8164 i £& 3204.3 0
L R4 A ] 48 H 2 ) AR AL A F] 110kV b 28 H ik 10kV835JfE 1] £; 10911.9 0
FE] ) 7 1 44 FL 2 ] R ARE gL AT 120kV L A8 H izl 10kV833/KBE) & 10911.9 0
] B H 3t R 2 ) ] o A% BL it B 2 110kV b R AL H il 10kV8533, 117 VI £k 3117.7 0
FE ) 177 41 43t FiL A ] o 4% Ll 0 ] 120k V i 171735 H 37l 10kV8633H T V 54k 10911.9 0
] 4 A7 ] 4t Pl 2 ) ] £ EL 3t H 2 ] 110kV A FRAR H il 10kV829K: M2 £ 4503.3 0
] o A 4t Fl, 2 ] FE A EL it Fi A ] 110kV AR AL FE ik 10kV8158k) 2k 10911.9 0
FEL ) 77 ] 418 HL 2 ] ] o AR Bl L v ] 110kV I 175 B 33 10kV877f 125 10911.9 0
] o A 1 4t Rl 2 ] A EL it Fi A ] 35KV A2 FL ik 10kV5425% & £& 10911.9 0
FEL ) 77 41 418 HL 2 ] ] ) 4% L3t b A ] 110KV A8 H AL H, 3l 10kV/893 KM HE 25 10911.9 0
] R A 4 Fl, 2 ] QB it i A ] 110KV I3 171745 FE 35 10kv881H |2k 10911.9 0
L ) 77 41 418 HL A ] ] ) 4% L3t b A ] 35KV i AL HL ik 10kV/568 [ Al £& 3117.7 0
FE 1% 177 41 43 FiL A I o 4% Lk 0 ] 110KV & A 42 i 3k 10kV 857U/ [X £k 10911.9 0
il D0 477 1 3 L 8 ) ] o L A e 4 ) 35KV AT HL ik 10kV547 F 414k 4503.3 0
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o A7 141 43 H, 2 ) AR B AL 2 ] 110kV AR AR HL il 10kV817H Ik 25 10911.9 0

FE 1) 177 41 438 Fi A ] o 4% LAl A ] 110kV ZUPRAR 1 3k 10kV813Fh A £& 10911.9 0

o A7 41 436 H, 2 ) AR AL A 110kV A8 PH AL H il 10kv591 | 4k 6235.4 0
] A A 1 4t i 24 ] FE A EL it Hi A ] 110kV 78 )i PEL A P b 10kV/596 11 %7 12k 10911.9 0

o A7 41 436 H, 2 ) AR AL A 110kV b 28 H ik 10kV/ 8378 H £ 25 10911.9 0
] o A 4t i, 2 ] [ ) 5 9 L e v ] 35KV A ¢ AL R b 10kV663 8 L2k 2598.1 2771.98
] 4 A7 4 3t Pl 2 ) I ) 5 5 B v 2 ] 35kV/ZE 148 H il 10kV593# L1 £& 2598.1 500.08
] R A 4 i 2 ] [ ) 5 9 L e v ] 110KV i 123 4% F il 10kV568%% 5K 2k 6096.8 63

FEL ) 77 ] 418 HL 2 ] I o 2 8 EL A3 e A ] 110KV 12248 H il 10kV5637 & 25 6096.8 3161.74
] oA A 4t Fl 2 ] [ ) 5 98 LA e v 7] 35KV 7 T8 AL F v 10kV874F ZR 41 2k 4156.9 599.02
FEL ) 77 ] 418 HL 2 ] I o 2 8 EL A3 e A ] 110KV 7 2848 1 il 10kV 8435 FH 25 2598.1 3545.48
] R A 1 4t Fl 2 ] [ ) 5 38 L e v 7] 35kV i A v 10kV563F H:2k 2598.1 785.58
FEL ) 77 1 418 HL 2 ] I o 2 8 EL A3 e A ] 110KV 7 2848 1 il 10kV5462 A+ 2% 4849.7 1030.36
FE 1) 177 41 43 Fi A I o 7 2 LI v A ) 35KV [1] [ A2 L 3 10kV513 A £& 2598.1 799.98
FEL ) 77 41 418 HL 2 ] IR o 2 8 EL A3 e A ] 35KV 7 T AR HL itk 10kV875%% i £ 8313.8 1093.04
FE %) 117 41 43 Fi A I o] 2 2 LI v A ) 35KV FE FE AL b 10kV 86814 5 & £k 2598.1 2332.48
FEL o 77 41 418 HL 2 ] IR o 2 8 EL A3t e A ] 35kV A% 75 48 HL ik 10kV 69945 1 i £& 2598.1 343.58
A A ] 44 E, 2 ] W i 38 EL ik L A ] 35kV g A8 HLizk 10kV5667 T 2k 2598.1 1052.98
o A7 11 43 H, 2 ) W 7 3 EL Al L A ) 110k V] 322748 H il 10kV8637 4k 6096.8 645.14
A A ] 44t E, A W i 28 L ik A ] 110kV 5E 2248 F ik 10kv8474L 7t /3 £k 2598.1 454.28
] R4 ] 48 H 2 ) B 5 ge Bt A ] 35KV A ¢ AL H bl 10kV863 A 5% 2% 2598.1 1484.98
] R A 1 4 i, 2 ] [ ) 5 2 L e Ay 7] 35KV 7= A v 10kV5895 24 £k 4503.3 113.94
o A7 11 43 H, 2 ) W 5 3 EL Al L A ] 110KV 322738 H il 10kV56675 £ £k 6945.5 1730
] oA A 1 4t Fl 2 ] [ ) 5 38 B e Ay 7] 110KV Ff 111 A2 FL 3 10kv894 F 5 [ £; 4503.3 2661.04
o 7 41 43 H, 2 ) W 7 3 LAl L A ] 110k V] 122738 H il 10k V5657 121 2% 7828.9 951.32
] oA A 1 4 i, 2 ] [ ) 5 9 LA e v ] 35kV A% 75 A2 FL ik 10kV806>% £ £ 8313.8 547.24
TE] 5 177 ] 408 b 24 ] [ o) 2 8 B v A 35KV [7 B 2% HL 3 10kV814 5 5 £k 4503.3 144.04
] R A 4t Fl 2 ] [ ) 5 3 L e v 7] 35KV 75 2248 L v 10kV853E U E 4L 2598.1 2332.48
] B H 3t R 2 ) 5 ] s 8 Lt 20 ] 35KV 7] FH A8 H itk 10kV51457 3 2% 2598.1 463.98
] o A 4t Fl, 2 ] [ ) 5 8 LA e v 7] 110KV 7E 3248 F 10kV5453 7 1548 2598.1 1860.48
FEL ) 77 ] 418 HL 2 ] I ) 2 8 EL A3 e A ] 35KV ZE 148 H itk 10kV5872 [ £k 2598.1 802.38
] o A 1 4t Rl 2 ] [ ) 5 9 EL e 2y 7] 35KV 48 FL ik 10kV 586 i & £k 2598.1 1396.68
FEL ) 77 41 418 HL 2 ] 6] o 2 8 EL {3 e A ] 35kV/ZE 148 H itk 10kV5832 Ti. 4% 4936.3 107.64
] R A 4 Fl, 2 ] [ ) 5 9 LA e oy ] 110KV 7E 3248 F 10kV8455E HIIT £ 2598.1 1343.28
L ) 77 41 418 HL A ] I o 2 8 EL A3 e A ] 35KV 7] BH 48 HL izl 10kV5153 A 2% 4503.3 452.04
] R A 1 4 i, 2 ] [ ) 5 9 L e v 7] 35KV ) 75 A8 H il 10kV 69875 4 IR 25 2598.1 1563.38
FEL ) 77 41 418 Ht 2 ] IR o 2 8 EL A3 e A ] 35kV g £ A8 HL 10kV569 % [ 1 2% 10392.3 1345.94
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] o4 7 ] 48 H 2 ) B 5 ge Bt A ] 35KV 7 T AR HL ik 10kV 87674 41 £k 8313.8 680.04
] A A 4t i 2 [ ) 5 2 L e v 7] 110kV 72 2248 F ik 10kV8A4IL T 15 £k 2598.1 3119.08
o A7 41 436 H, 2 ) W 7 3 LAl L A ) 35kV 4% 75 A8 HL ik 10kV 69641k 7t 242k 10444.3 771.44
] A A 1 4t i 24 ] [ ) 5 3 L e v ] 35kV i A v 10kV5675% 3k 2k 2598.1 35.48
o A7 41 436 H, 2 ) W 7 2 LAl L A ] 35KV 7] FH A8 H ik 10kV813 A A £k 9006.7 1039.96
] o A 4t i, 2 ] [ ) 5 9 L e v ] 35KV 7 T8 A H v 10kV881%% 1.4k 5196.2 288.36
] o4 7 ] 446 H 2 ) 0 5 98 Bt ] 35KV 2= FE AR HL vl 10kV597 B A+ 25 2598.1 2108.88
] R A 4 i 2 ] [ ) 5 9 L e v ] 35KV B AL FL ik 10kV878 K& £k 4676.5 408
FEL ) 77 ] 418 HL 2 ] I o 2 8 EL A3 e A ] 110KV A L A48 H 3l 10kv896# i I £k 2598.1 2126.98
] oA A 4t Fl 2 ] [ ) 5 98 LA e v 7] 35kV 4% 75 A2 Lk 10kV6941L4M R ZL 2598.1 60.88
FEL ) 77 ] 418 HL 2 ] I o 2 8 EL A3 e A ] 35KV 7 TH AR HL itk 10kV879 5 4 £k 8313.8 1292.04
] R A 1 4t Fl 2 ] [ ) 5 38 L e v 7] 110KV 7E 3248 F 10kV/548 52 5 B4 £& 6512.5 1677.2
FEL ) 77 1 418 HL 2 ] I o 2 8 EL A3 e A ] 35kV G £ A8 HLk 10kV57348 A 2% 2598.1 1759.98
] R A 1 4 i, 2 ] [ ) 5 8 LA e v 7] 110kV 52 848 F ik 10kV'547 74 P4 /3 2% 2598.1 2435.18
FEL ) 77 41 418 HL 2 ] ] ) 5 98 Bt e A 7] 35kV g A8 HL 10kV'568 7 I 2% 2598.1 0

] R A 1 4 i 2 ] [ ) 5 38 L e v 7] 35KV 75 A8 HL il 10kV 69744 T in] 1T |l 2% 2598.1 0

FEL o 77 41 418 HL 2 ] IR o 2 8 EL A3t e A ] 35kV i 5K FEAR HL 10k V8642 25 2598.1 0

] A A 1 4 i, 2 ] [ ) 5 3 L e v ] 35kV ) 75 A8 HL il 10kV 695k Pl 142k 2598.1 0
P47 1 43t HL 24 ) P 5 7 ELAfE L ] 110KV A1 11132 HL ol 10kv897 AT £ 2598.1 0

] 4 7 44 A I o 2 2 EL A3 v A ) 35kV %) 75 A HL i 10kV803 %! 1 £& 8313.8 0
FEL ) 77 41 418 HL 2 ] ] o4 g B A ] 35KV #E S AL HL bk 10kV 8674 ] 1445 2598.1 0
] R A 1 4 i, 2 ] [ ) 5 2 L e Ay 7] 110KV F 111 A2 FL 3 10kv8931# 1L £k 2598.1 0

] R4 A ] 48 H 2 ) B 5 ge Bt A A 35kV 75 25 A8 HL ik 10kV 8584 5 & £; 6945.5 0
FE 1) 477 41 418 FiL A I o 2 2 EL A3 e A ) 110KV 5E %2748 i 3k 10kV54435 Ti7 45 2% 2598.1 0

L R4 A ] 48 H 2 ) B 5 ge Bt A A 110kV 5 2 48 H il 10kV553/) F AT 25 2598.1 0
] oA A 1 4 i, 2 ] [ ) 5 9 LA e v ] 110KV Ff 1L A2 P 3 10kV 895k £k 2598.1 0

] 4 A7 4 3t Pl 2 ) I ) 5 5 B v 2 ] 110KV 7 2245 1 il 10kV8491fT B2k 2598.1 0

] R A 4t Fl 2 ] [ ) 5 3 L e v 7] 35kV 4% 75 A2 FL ik 10kV/805 ¥ Sk 25 8313.8 0
] o4 A ] 48 F 2 ) B 0 52 e Bt A ] 110kV 7 2245 H bl 10kV 8483 7R 25 £k 2598.1 0

] o A 4t Fl, 2 ] [ ) 5 8 LA e v 7] 110k Vi 72 728 F ik 10kV564 75 > £ 6945.5 0

FEL ) 77 ] 418 HL 2 ] I ) 2 8 EL A3 e A ] 35KV ZE 148 H itk 10kV596 7 Pk A 25 2598.1 0

] o A 1 4t Rl 2 ] [ ) 5 9 EL e 2y 7] 35kV 4% 75 A2 FL ik 10kV804H: /1 £k 8313.8 0
FEL ) 77 41 418 HL 2 ] ] ) 5 0 L {3 o, 24 ) 110KV A7 J A48 H il 10kv8437] 7 11 £& 10565.5 3189.4
] R A 4 Fl, 2 ] ] [0 5 Uk LAt i A ] 110KV /) AR F il 10kV/ 5327 T £k 8920.1 237.58
] o4 7 ] 448 H 2 ) ] o e LAY v 4 ) 35KV S A HL v 10kV563°4 k28 5802.4 444.62
] R A 1 4 i, 2 ] ] [0 5 Uk LAt i A ] 110kV A1 Je 28 FL ik 10kV 840 FH VI £k 10565.5 1516.4
FEL ) 77 41 418 Ht 2 ] JR] ) 25 0 L {3 e, 2 ) 35KV fift 5 B AR Ll 10kV 59611 4 £ 24 4763.1 183.98
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P A 43 El, 2 ] o ¢ Uy L 3t Fh 2 ) 110KV A A48 H 10kV 8263k FH 1T 2% 10565.5 2200.7
] A A 4t i 2 ] [0 5 Uk LAt i A ] 110k V 7 ¢ A R b 10kV876HHH 115 £k 8920.1 839.98
P A 43 E, 2 ) o 5 Uy Lt 2 ) 110kV 7 ¢ FE AR H il 10kV572 002k 2598.1 677.98
] A A 1 4t i 24 ] ] [0 5 Uk LAt i A ] 110kV /) T AR F ik 10kV 53618 i £& 10565.5 404
o A7 41 436 H, 2 ) o S5 e L 4t i 24 ) 110kV 7 ¢ FE AR H il 10kV5774 17 105 28 10565.5 2760
] o A 4t i, 2 ] ] [0 5 Uk LAt i A ] 110KV b I A2 F i 10kV 921 byl 1T o] 2% 10565.5 2197
] 4 A7 4 3t Pl 2 ) ] ) <0 S {3 v 28 ] 35KV A1 AR H il 10kV593 3 HE £& 6581.8 120.04
] R A 4 i 2 ] ] [0 5 Uk LAt i A ] 110kV i 5K FEAZ HL o 10kV571 7k b 2k 10565.5 1590
FEL ) 77 ] 418 HL 2 ] JE] ) 45 0 L {3 W, 24 ] 35KV kAR HL ik 10kV557 %% # 2% 5802.4 162.9
] oA A 4t Fl 2 ] ] [0 5 Uk LAt i A ] 35kVAA 548 FE ik 10kVZR 55 £k 584 5802.4 106.82
] ) f 1 45 Pl 28 ) (5] o) 20 L A3 Fh 0 ] 110kV A1 JE 38 HE b 10kV842 K 74 11 £k 6581.8 238.64
] R A 1 4t Fl 2 ] ] [0 5 Uk LAt i A ] 110k V 7 2 HE A P b 10kVHE £ 2872 8313.8 432.04
FEL ) 77 1 418 HL 2 ] ] ) ey AR v 8 ) 110KV A7 J A48 1 3l 10kV 8303 HH 1T 22 10565.5 2620.7
] R A 1 4 i, 2 ] ] [0 5 Ul LAt i A ] 110kV A7 Je 28 F ik 10kV833 K4 2k 6581.8 370.54
FEL ) 77 41 418 HL 2 ] ] ) 5 0 L {3 e, 2 ) 110KV RS i A2 H il 10kV9207K & Bk 1y 2k 10565.5 1610.2
] R A 1 4 i 2 ] ] [P 5 Uk LAt i A ] 110KV /) HE AR F il 10kV833 = F I 2k 10565.5 443
FEL o 77 41 418 HL 2 ] ] ) ey A v 8 ] 110kV 7 ¢ FE AR v il 10kV 875 4k 10565.5 692
A A ] 44 E, 2 ] o e Lt P 2 ] 110KV b 1] A2 F i 10kV9197b A< T [H] £& 10565.5 7.6
P A7 1143 El, 2 ) o ¢ Uy Lt A ) 110kV H 5248 HL ik 10kV5197A s £k 5802.4 203.02
A A ] 44t E, A o e Lt F 2 ] 35KV <5z L1 4l A% P b 10kV5253C iR 28 5802.4 113.92
P A 43 E, 2 ] o 6 Uy Lt 2 ) 110KV A A48 H il 10kV8294R#H [ 2k 10565.5 2164
] R A 1 4 i, 2 ] ] [0 5 Uk LAt i A ] 110KV 7 5 HE AR L 10kVOL A £ 2k 873 6581.8 282.04
] o 7 1 4 2 ) ] ) U L 3 v 0 ] 35KV 5 AR HL ik 10kV/5867K 5% £k 10565.5 111
] oA A 1 4t Fl 2 ] ] [0 5 Uk LAt i A ] 110KV b Ji] A2 F il 10kV922H1 2% 11 |l 2% 10911.9 1176.7
P9 7 3t B 28 ) o] U L it H 2 ] 110kV AR ] 28 H il 10kV816Hs 4% T [HIZk 10565.5 2767
] oA A 1 4 i, 2 ] ] [0 5 Uk LAt H A ] 110KV 7 5 HE AR L 10kV877 H [ 2k 10565.5 0

] 4 A7 4 3t Pl 2 ) ] ) <0 S {3 v 28 ] 110kV 7 ¢ FE AR HpL il 10kVI 81 95 2579 10565.5 0

] R A 4t Fl 2 ] ] [0 5 Uk LAt i A ] 110kV i 5K FEAZ HL o 10kV573 A JRZL 8313.8 0

] 4 A7 ] 4t Pl 2 ) ] ) <0 {3 v 28 ] 110kV H SR A48 1 il 10kve12 H A 11 4k 8920.1 0

] o A 4t Fl, 2 ] ] [0 5 Uk LAt i A ] 110kV A1 Je 28 FL ik 10kV824 - ZiiBk 2L 10911.9 0

FEL ) 77 ] 418 HL 2 ] ] o e LAY v A4 ) 110KV A7 J A48 1 bl 10kV837HR A IV £k 6581.8 0

] o A 1 4t Rl 2 ] ] [0 5 Uk LAt i A ] 110KV /) HE AR F il 10kV534 K5 2k 10565.5 0

] ] A 1 45 Pl 28 ) [E] o) 20 L A3 P A ] 110kV A1 JE 38 HE b 10kV849JfE 3k 11 [a1 2 10565.5 0

] R A 4 Fl, 2 ] ] [0 5 Uk LAt i A ] 110kV A7 Je 28 FL ik 10kV 823 JfE Sk £k 6581.8 0

L ) 77 41 418 HL A ] ] ) ey AR v 8 ] 110kV H 5 A48 1 il 10kve11H A 1 4k 8920.1 0

] R A 1 4 i, 2 ] ] [0 5 Uk LAt i A ] 110kV i 5K FEAZ Lol 10kV 871t [Hl £k 10565.5 0

FEL ) 77 41 418 Ht 2 ] ] ) ey S v 8 ] 110kV 7 ¢ FE AR v il 10kV 57875 £ 10565.5 0
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I 7 3t B 28 ) o U L it H 2 110KV AR ] 28 H il 10kVO101% M4 2k 6581.8 0
] b 3t R 2 ) ] [0 5 Uk LAt i A ] 110KV /) AR F il 10kV834 K& 1T £ 10565.5 0
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FEL 0 A ] A4 Fi 2 | P A ORT DX HL A 110k V 4% B3 A2 1 3l 10kV5545474% [ 2k 8573.7 0
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] A A 1 4t i 24 ] I ) 5 Tl A vl 2 ] 35KV AL A HL i 10kV958HL T 115 £k 10444.3 2723.24
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] 4 A7 4 3t Pl 2 ) I ) 51 i 43 v 2 110kV 5T FE AR H bl 10kV 5045 1 € i TL 4% 8920.1 44.4
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